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Ol=&Hl] 1,000
O=XNXIEZA RFE S EHI
7,000& * 501 * 28.57L 1,000
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ORE+EXH QEX =&
1,000,000& * 1JH A 1,000
301 et 8= 4,500 4,500 0
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O=JI23X & BEE20H=E A23 N2
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10 AtEI =S X2 X 54,000 0 54,000
O6.255 M+ 2IEH XA 1,500,000 = 13l 1,500
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= 24,000
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< 24,000
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05.18 =SS MA KX 24|
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1 AIEHIZ 20| 437,880 50,000 387,880
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OS2 2 HESHNOESE AXACPHAX
30,000,000& * 1A 30,000
OMB HASNOESE AYDA
400,000,000& * 14 400,000
OHOIE=SZE &l 2,500,000& = 2J0 A 5,000
03 Al&E 201 Y| 2,880 0 2,880
Odts MEZHOIEESH HEZA 204
400,000,000& * 0.72% 2,880
S0 HFHAEH HE 3,008, 100 1,485,212 1,522,888
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Al & H| 3,000,000 1,474,412 1,525,588
O=20MSHE HE ZBA
3,000,000,000& * 14! 3,000,000
03 Al 201 Y| 8,100 10,800 AN2,700
O=0MSHAEH HEZ2AF AIE20H]
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307 2Iz2to| A 17,829 17,829 0
02 It A X3 17,829 17,829 0
O0lglol Msna 5,082,000& = 14l 5,082
OFA4E MeEgnadsdy 5,006,000& = 1A 5,006
OEMENST ZE 2,735,000 = 14! 2,735
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09 HAIAHI EAZ 18,000 18,000 0
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2,000,000& = 23] 4,000
OEUE 28 Y
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MEHsRY 29 13,500 13,500 0
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Oger Mt XX B XA
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Mt HOQ M=0a 15,000 0 15,000
307 QI2t0| & 15,000 0 15,000
04 QI2tHAIE X = 15,000 0 15,000
Odete= oS M=sUa &I NS
15,000,000& * 13| 15,000
Hdetde 3A4AE S2HUs 4,000 0 4,000
307 giztol & 4,000 0 4,000
04 QIZ2tSHALE X 2 4,000 0 4,000
Odetedx: 344 28 Us &2 X
;000,000 * 13 4,000
M= S H=EU3 | 200,000 0 200,000
307 2iz2tol & 200,000 0 200,000
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2,000,000& = 14! 2,000
O[A&E&EH KXHl] 10,400
OAaMsa ¥ 2o 2AHES RAH
4,500,000& = 14l 4,500
OMsa, 2052 gs5&H SA22
1,000,000& = 1O = 13 1,000
OAaUM=Es2 ZHAEH S22l
100,000& = 2074 2,000
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FM: HsdE 84
Eel MsAE 29 (&)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
401 Al I 28I 164,368 35,938 128,430
01 A& HI 164,368 35,938 128,430
OaUxsa, 2002 A2 HMF AL
500& = 8,750 4,375
OCaUMsa, 2032 Addy Y otdEH
u]l 350& = 8,750m 3,063
OZ23 2 taloa 02N wH3AH (S
O &1 Q12401 4 ) 150,000,000& * 14l 150,000
O=glsl& Halola Y02 WM SAH &
Al & H HI 6,930,000& * 14 6,930
405 XHoHF S HI 1,000 5,000 A 4,000
01 XL 2 ZFH S| 1,000 5,000 A 4,000
OdUM=E2 25217 WA
1,000,000& * 1& 1,000
SE2SY 222 70,857 26,951 43,906
101 @14 Hl 5,845 4,051 1,794
04 JIZHHZ2XREE S 5,845 4,051 1,794
OZHSEH sixa B4 R
40,1403 = 62! * 9.0553l 2,181
OZ2&L2sd 240 97
61,0663 * 2021 * 33| 3,664
201 Let249] 21,600 21,800 A 200
02 3323l 21,600 21,800 A 200
Ol3s22 < HMAl 9,400
OMIRIB(SLE2SE &EA  MAZHNOE
EX) 450,000 » 12& 5,400
ONBI+ER2(BL2ST 3T HE 2
OIEEH) 1,260& = 264.55& » 128 4,000
O[AIE &BIRXIEI] 12,200
OZ242s% st&4a |FAE=H
257,142 .85% « 78 1,800
ONMAEZ HOIE=SE RXE=H
1,000,000& * 1& 1,000
OZ242s% |AE=H
1,440,000,000& = 0.375% 5,400
OZHSSH QXA HAXY
2,000,000& = 13l 2,000
OBHSER Y& SNLLY)
1,000,000 = 14 1,000
O2&E23% CCTV RAE=Hl
1,000,000& = 13l 1,000
206 M= Hl 1,100 1,100 0
01 MHZ 4l 1,100 1,100 0
OZHSEX XZ4 427
25,0003 * 16% = 13 400
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AN FUHEX S D

=
Zal: S

IS4 54
So: HSAY 29 (29l 8)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
O [=2322 % HAI 20,472
OIS (SEMSH IHRES)
1,500,000& » 12& 18,000
O&Gt==R3 1,260& = 100E » 12& 1,512
OSHNEE SIEMEE
40,000 = 23| * 128 960
O [AMN&&EHISXHl] 2,000
Ods=glsa A=Kl
1,500,000 = 14l 1,500
Ons=gMdsa Zd&5&d |2l
500,000& * 14! 500
202 oddl 1,100 1,100 0
01 = LH o4 1l 1,100 1,100 0
Ods=grsa & AXXCRE 2922 &
S 20,0003 = 55« 1,100
206 M= Hl 1,100 1,100 0
01 MHZ 4l 1,100 1,100 0
Ox&d= 22 M=zdl 24 600,000& = 14! 600
oXegll s¢€Nss # 7503 * 666.6& 500
401 Al Bl 28I 1,500 0 1,500
01 A& HI 1,500 0 1,500
OAag4y dZetdFEAH  1,500,000& * 12] 1,500
405 THabH S| 9,000 1,500 7,500
01 XL = ZH SHI 9,000 1,500 7,500
Ots=sedsa IE IIRE2SHEZ?Y
9,000,000& = 14! 9,000
oS SE2SE 22l 32,262 10,062 22,200
101 @14l 4,562 4,562 0
M4 JI12ZHZEXNSES 4,562 4,562 0
OUXTCTE HAogY
40,1403 = 22! * 37.993| 3,050
OHSSHI2SE EHIJIARY(4,237m)
75,6003 * 491 x 5« 1,512
201 Let24E] 5,000 5,000 0
02 22224l 5,000 0 5,000
OM=AEES RAE=H 5,000,000& = 14! 5,000
206 M= Hl 2,700 500 2,200
01 =8l 2,700 500 2,200
oMl sEH=aF ¢ 7503 * 666.6% 500
OQERC 57 SHY PY
,200,000& = 1& 2,200
401 Al HI & 28I 20,000 0 20,000




AN FUHEX S D

=
Zal: S

IS6E |54
Sl HSAE 2% (29 a8)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
01 A& HI 20,000 0 20,000
Ods dAILERE 2els FH A £X
S A 20,000,000& * 14l 20,000
SCEFHIUSAE 22 5,000 0 5,000
101 @124 dl 2,000 0 2,000
04 JIZHHZ2XREES 2,000 0 2,000
OHSAE B2 oY
0,140& = 62! = 8.3043] 2,000
201 LB-2dH| 3,000 0 3,000
02 =224l 3,000 0 3,000
Ol2=222 % HAl 3,000
oOdIIR=3 250,000& ~ 123 3,000
HE2HAZH (= MET D) 92,489 99,621 AT,132
Jl23&dl 92,489 99,621 AT,132
FoUMBTIAE Jl=ZH 20,354 22,148 A1,794
201 Let24E] 10,322 11,468 21,146
01 At 22l 10,322 11,468 A1,146
Olget+gl] 8,280
ORAN2E SUAHA 8,280,000& 14 8,280
Ol=&Hl] 2,042
ORAN2E SN 2,042,000& * 14 2,042
202 oddl 5,832 6,480 A 648
01 = LH &4 1l 5,832 6,480 A 648
FAE2E AL 5,832,000& = 14 5,832
203 YR =] 4,200 4,200 0
04 FANSEH =L 4,200 4,200 0
ORN2IEYR=AHI 4,200,000& = 14 4,200
SIA=RXEE Jl=22Hl 9,248 10,272 A 1,024
201 L2l 5,180 5,752 A572
01 At 22/l 5,180 5,752 ABT72
Olger~=2tl] 2,880
ORAN2YE SHAH& 2,880,000& = 14 2,880
Ol3l] 2,300
ORAN2YE SHAH& 2,300,000& = 14 2,300
202 4l 4,068 4,520 A 452
01 = LH YI 4,068 4,520 A 452
N2 SUAY 4,068,000& = 14! 4,068
SEXALE J1=234l 15,174 16,860 A 1,686
201 LB-2dH| 6,174 7,860 A 1,686
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2N F

HE: By
el JI=23Hl (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 At 22l 6,174 7,860 A 1,686
Olget=&Hl] 3,000
ORA2E SHA L 3,000,000& = 14l 3,000
Ol=&Hl] 3,174
ORAN2E SHAL 3,174,000& = 14 3,174
202 O4dl 9,000 9,000 0
01 = LH 4 Hi 9,000 9,000 0
FN2E SHAY 9,000,000& * 14! 9,000
HEXAE Jl=34 12,740 14,155 A1,415
201 et 4,622 5,135 A513
01 At 22l 4,622 5,135 A513
Oflger=&Hl] 2,070
ORAN2E SHAL 2,070,000 = 14l 2,070
O] 2,552
ORAN2E SHAL 2,552,000& = 14 2,552
202 O4dl 8,118 9,020 A 902
01 = LH 4 Hi 8,118 9,020 A 902
ORNM2YE SHAY 5,850,000& * 14! 5,850
O Y= 4 0Hl 2,268,000& * 14 2,268
M=Ald2e JI2Zdl 34,973 36, 186 21,213
201 Yete | 29,843 30,486 £643
01 At 22l 29,843 30,486 A 643
Olger=&tl] 3,600
ORA2YE SHAH& 3,600,000& = 14 3,600
ol2g=+¢] 24,050
OgA=g 50,000& = 116 5,800
O=sZ=d 50,000& = 365 18,250
Ol=&Htl] 2,193
ORAN2E SHAHL 2,193,000& * 14 2,193
202 O4dl 5,130 5,700 A570
01 = LH 4 Hi 5,130 5,700 A570
ORNM2Y SHAY 5,130,000& * 14! 5,130
NRes (= Max ) 400,000 400,000 0
WEHHX = 400,000 400,000 0
AE=0II22g SEIAHTES (L) 400,000 400,000 0
701 JIEtSI AN ES 400,000 400,000 0
01 JIEtel HE &= 400,000 400,000 0
OY=2SHIISELIIN &S
400,000,000& * 14 400,000
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